601 Series - System
AO07 - Exterior Wall to Wall
AQ9 - Exterior Wall to Corner

| Movement Rating + 50%

Product
Guide

eo=mm

Seismic  Exterior Fire Rated Vapor Barrier
Option Uptian

» The Hinged Cover plate or“pan” can be infilled with adjacent
Architectural systems to disguise the expansion joint (Glazing,
Metal panels and Masonry units such as Stone and Brick).

» ldeal system for use on high-end exterior systems or
conditions where the structural joint is located in a high

profile position on the building veneer.

» Flush mounted exterior system reduces sightline to two
reveals of approx. 1”and 3” dimensions.

» System is seismic capable while allowing for daily thermal
movement and wind sway considerations.

» Compression springs correctly reposition the pan to the
nominal position after a system movment.

» Two levels of system complexity available. Factors dependant
on height of building, region of project and wind design
loads.

» Signed and sealed structural calculations by a Licensed
Engineer available.

» Reinforced insulated vapor system capable of R-15 rating
available in combination with the 601.

W1 w2 H1 S1 S2 Themal Movement +/- Seimic Movement +/-

Apphcat'on SVStem Jomt:Mdth Joint Width 2 Height Sightline Slightline Horizontal Vertical Horizontal Vertical
us mm us mm US mm us mm us mm US mm US mm mm mm

Wall/Wall 601-A07/A09-300 | 12" 305 171/2" 445 | 11/2" | 38 11/16" | 30 | 31/16" | 78 1" 25 1" 25 6" 152 6" 152
601-A07/A09-450 18" 457 231/2" 597 11/2" | 38 11/16" 30 31/16" 78 1" 25 1" 25 229 " | 229

LLEIL 1 A07/A09-600 | 247 | 610 | 29127 | 749 | 1127 | 38 | 11/16" | 30 [ 3116 [ 78 | v | 25 | = | 25 | 127 | 305 | 127 | 305

Available in custom widths and pan depths. Please contact InPro Corporation Representative for more details.

IPC.1515/REV.6

inpro.com ¢ 800.222.5556  262.679.9010
World Headquarters S80 W18766 Apollo Drive, Muskego, WI 53150 USA

INnpro.



601 Series

Exterior Flush Mount

601-A07/A09 Wall/Wall Wall/Corner
(12" (305mm) system shown)

SUBSTRATE INSERT
(BY OTHERS)

kil

SEALANT (BY OTHERS)

SUBSTRATE EXTERIOR
(BY OTHERS)

ya

W2
BACKER ROD AND
SEALANT (BY OTHERS)

e AN

%

CONT. ALUM. FLASHING

CONT. PAN/HINGE W/ POP-UP
/I CONT. ALUM. FLASHING
S2

Z

V% ]

FLAT HEAD SCREW
(BY OTHERS)

1/4"-20 x 1 1/2" SELF TAPPING SCREW

END IN FIELD)

SPRING ANGLE TUBE
BOLT/NUT KIT

o
SS. CABLE ASSEMBLY (CRIMP PAN //

=

\ ALUM. POP-UP BRACKET W/SLOT

™\~ COMPRESSION SPRING
W/ALUM. ANGLE BRACKET
(7 PER PLATE @ 18"(457mm) O.C.)

1
2

2
|

[39mm]

STRUCTURAL ELEMENTS (BY OTHERS)

601 Series Options

Wrap Around Vapor Barrier
(12" (305mm) system shown)

SUBSTRATE INSERT
(BY OTHERS) _\

SEALANT (BY OTHERS)
I

CONT. PAN/HINGE W/ POP-UP

CONT. ALUM. FLASHING

[,

SUBSTRATE EXTERIOR
(BY OTHERS)

W2
BACKER ROD AND

) SEALANT (BY OTHERS)

T\ o

CONT. ALUM. FLASHING

Z /]

Z

FLAT HEAD SCREW
(BY OTHERS)

1/4"-20 x 1 1/2" SELF TAPPING SCREW —

SS. CABLE ASSEMBLY (CRIMP PAN /
END IN FIELD)

SPRING ANGLE TUBE /

BOLT/NUT KIT

11
2
[39mm]

I T
STRUCTURAL ELEMENTS (BY OTHERS)

\ ALUM. POP-UP BRACKET W/SLOT

™\~ COMPRESSION SPRING
W/ALUM. ANGLE BRACKET
(7 PER PLATE @ 18"(457mm) O.C.)

’\_ OPTIONAL EPDM VAPOR BARRIER NOTE: SET
IN CONT. BEAD OF BUTYL/RUBBER CAULK
(BY OTHERS)

inpro.com ¢ 800.222.5556  262.679.9010

World Headquarters S80 W18766 Apollo Drive,

Muskego, WI 53150 USA

iInpro.



601 Series

Options

Insulated Vapor Barrier
(12" (305mm) system shown)

SUBSTRATE INSERT (BY OTHERS)

SEALANT (BY OTHERS)

\

CONT PAN/HINGE W/ POP-UP

CONT. ALUM. FLASHING

SUBSTRATE EXTERIOR
(BY OTHERS)

4

W2

o pn

BACKER ROD AND
SEALANT (BY OTHERS)

CONT. ALUM. FLASHING

FLAT HEAD SCREW
(BY OTHERS)

1/4"-20 x 1 1/2" SELF TAPPING SCREW —

2

A|

1n
15"
[39mm]

Il

STRUCTURAL ELEMENTS (BY OTHERS)

SS. CABLE ASSEMBLY (CRIMP PAN .
END IN FIELD) —"A
APPLY CONT. BEAD OF
SPRING ANGLE TUBE SEALANT AT FULL PERIMETER
BOLT/NUT KIT (BY OTHERS)
INSUL. EPDM VAPOR BARRIER ALUM. POP-UP BRACKET W/SLOT
(JLOXX-IVB) NOTE: SET IN CONT.
BED OF BUTYL SEALANT (BY COMPRESSION SPRING
OTHERS) TERMINATE RVB AT W/ALUM. ANGLE BRACKET
OUTSIDE EDGES OF SYSTEM (7 PER PLATE @ 18"(457mm) O.C.)
l W4| 1
Fire Barrier
(12" (305mm) system shown)
SUBSTRATE INSERT (BY OTHERS) CONT. PAN/HINGE W/ POP-UP : 1
SEALANT (BY OTHERS) _\ / CONT. ALUM. FLASHING : -
w2 | ®
SUBSTRATE EXTERIOR BACKER ROD AND
(BY OTHERS) s1 S2 SEALANT (BY OTHERS) )
=\
CONT. ALUM. FLASHING /
FLAT HEAD SCREW —f |F \C i ! 1,
(BY OTHERS) 1
1/4"-20 x 1 1/2" SELF TAPPING SCREW — [39mm]

1/4" [6mm] FLAT HEAD HARDWARE W/ —
WASHER OR HILTI # X-U 32 P8 S15 PIN
MAX. 12" [304mm] O.C. (BY OTHERS)

SS. CABLE ASSEMBLY (CRIMP PAN
END IN FIELD)

SPRING ANGLE TUBE BOLT/NUT KIT
2 HOUR F520 FIRE BARRIER

NOTE:

RATED SUBSTRATE MUST BE IN
COMPLIENCE WITH UL ASSEMBLY
REQUIREMENTS (BY OTHERS)

e
d
T

Y\

C
\

\ COMPRESSION SPRING

STRUCTURAL ELEMENTS (BY OTHERS)
EXPANDED METAL FLANGES
ALUM. POP-UP BRACKET W/SLOT

W/ALUM. ANGLE BRACKET
(7 PER PLATE @ 18"(457mm) O.C.)

inpro.com

e 800.222.5556 * 262.679.9010
World Headquarters S80 W18766 Apollo Drive, Muskego, WI 53150 USA

iInpro.



